
 
N300473-10 
65101-11725-J 
 

Installation Instructions 
Honeycomb Shades  

Corded / Corded TDBU / Corded Day & Night 
 

 
Getting Started 
 

Remove the shade from the package. Save the 
packaging until the shade is installed and working to 
your satisfaction. 
 
Tools Needed ：：：： 
� Power drill and drill bit 
� Measuring tape 
� Screwdriver                                                                                  
� Level 
� Pencil 
�  
You will need to use the following fasteners for your 
particular mounting surface. 

Surface  Fastener  

Wood 

1 1/4” Screws (Provide) 
 

for 3/8”S 
 

for 3/8”D & 
3/4”S 
3/4” Screws 
(Provide) 

Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provide) 

Metal 
Sheet Metal Screws 
(Not Provide) 

 
Check Component/Hardware: 

         
 

 
Installation Bracket 

 
 
 
 

Cord Cleat      Hold Down bracket (optional)  
 

 

 

Hardware Standard Quantity 
 

Order Width (X) 
8 ½"≦
X≦42" 

42"＜X≦
75" 

X＞75" 

Installation Bracket 2 3 4 
1 1/4" Screw for 3/8”S 

Installation Bracket 2 3 4 

1 1/4" Screw for 
3/4”S,1/2”D&9/16”S 
Installation Bracket 

4 6 8 

Cord Cleat 1pc for Corded, 2pcs for 
Corded TDBU & Day & Night 

3/4" Screw for Hold Down 
Bracket/ Cord Cleat 

Hold Down Bracket qty*2 + 
Cord Cleat qty 

2" Screw for Installation 
Bracket with spacer 4 6 8 

Hold Down Bracket 
(Optional) 2 2 2 

Spacer (Optional) 2 3 4 
 

Note: You may find more hardware parts than you 
actually need. In that case, feel free to set them aside 
for future use. 
* Cord cleat is included. 
* Optional hardware parts, such as spacers and hold 
down brackets, are available upon request. 
 
Step 1: Bracket Installation 
 

Measure 3” from both ends of the head rail. Mark the 
bracket location on the mounting surface 
Proper alignment of brackets will make installation 
easier. 

 
a. for 1/2” Double cell, 9/16”Single cell & 3/4” 
Single cell 
Inside Mount: 
Allocate a min. distance of 
3/16’’ from wall to the front of 
brackets.Use two 1 1/4” 
mounting screws to secure 
brackets. Use wall anchors for 
drywall or plaster wall. 
(Align the front of brackets 
flush with wall if only lock the 
back hole in the brackets.)  
Outside Mount: 
Allocate a min. distance of 5/16’’ 
from the end of brackets to the top 
window frame. Use two 1 1/4’’ 

mounting screws to secure brackets. Use wall anchors 
for drywall or plaster wall.  
 
b. for 3/8” Single cell 
Inside Mount:  
Allocate a min. distance of 5/16” 
from the edge of the wall to the front 
of brackets. Use two 1 1/4” mounting 
screws to secure brackets. 

 

Outside Mount:  

Allocate a minimum distance  
of 3/16” from the end of brackets to 
the top window frame. Use two 1 
1/4” mounting screws to attach each 
bracket. 

 
 

* For shallow mounting, using flat head screw to 
secure the bracket in 45°. 

 
 
Step 2: Shade Installation  

 

� Position the shade so that the front is facing you. 
� Insert the rail with an angle facing the window; 

hooking up with the bracket front side, and then 
push it upward to snap into the bracket. 
For proper installation, start with attaching the front 
rail to the bracket. 
    For easier installation, move the middle rail 
of corded TDBU a little bit off before installing 
the headrail.   

   

 

Step 3: How to Install Hold Down Brackets 
(optional)  

  

A, For Hold 
Down Bracket. 

Use two 3/4” 
screws to secure 
each hold down 
bracket. 
 
B. For Magnetic Hold Down 
Use M3x15mm screw to secure the magnet catch at 
the below location. Make sure the magnet catch align 
with the pre-installed magnet on shade bottom rail.  
 

 
 
 
 
 
Step 4: Shade Operation 
 

For Corded TDBU & Day & Night: when lowering the 
shade, pull the left cord to lower the bottom rail first 
and then pull the right cord to lower the middle rail. 
When raising the shade, reverse operation. Raise the 
middle rail first and then bottom rail. 
 
Step 5: Cord Cleat 
Install the cord cleat on the wall. Wrap the operating  
cords around the cord cleat for child safety. Always  
use the cord cleat to keep cords out of the reach of  
children. The cleat should be installed more than 64”  
(1.6m) from the door. 
 
 
 
 
 
 
 
 
 
 
Remove the Shade 
 

� For Corded, Fully raise the shade 
� For Corded TDBU & Day & Night, Lower the mid rail 
� Insert screwdriver into the gap between the back of 
the rail and the bracket. Gently maneuver the 
screwdriver toward yourself to pry the bracket. 

 
 

 
 
 
 
 
 
 
 

for 3/8”S for  9/16”S for 3/4”S & 1/2”D 

! 



 
How to Reassemble Ellipse Safety Cord Connector  

           
 

Our Shade comes equipped with an Ellipse Safety 
Cord Connector that prevents child strangulation. If 
the device comes apart, please refer to below steps: 
1. Open the Ellipse Safety Cord Connector entirely.  
2. Align all cords and slide them into the slot of 
Ellipse Safety Cord Connector;  
3. Close the Ellipse Safety Cord Connector; 
4. Pull the tassel cords and make sure it is closed 

tightly 
 
 
Cleaning 

Routine cleaning will help maintain the beauty of your 
shade. The shade can be cleaned by using a soft 
brush, vacuumed with a low suction hand-held 
vacuum, cleaned ultrasonically (specify that a mild 
solution must be used and that the head rail should 
never be immersed in liquid), or dampen a clean cloth 
with a warm water and mild detergent solution to dab 
the spot until it’s gone (do not rub!). 
 
 
Troubleshooting 

Problem Solution 

For corded TDBU & 
Day & Night, if the 
bottom shade fabric 
not remain stacked 
(billowed on the 
windowsill), when 
the top was lowered 

When lower the bottom shade, 
please pull the left side cord 
leftwards to lock the bottom 
rail. Please make sure the 
bottom rail is locked right 
above the windowsill first (if 
not locked, please try more 
times) before operating the top 
shade.  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
N300750 
65101-10249 

Installation Instructions 
Honeycomb Shades 

Cordless & Cordless TDBU & Cordless Day & Night 

 
 
Getting Started 
Remove shade from package. Save packaging until 
shade is installed and working to your satisfaction. 

 

Tools: 
 
� Level 
� Measuring Tape 
� Pencil 
� Power drill 
(¼” hex driver and drill bit) 

� Screwdriver 
 
You will need to use the following fasteners for your 
particular mounting surface. 

 
Surface Fastener 

Wood 
#8 1 1/4” Screws     
(Provide) 
#6 3/4”screws  

Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provide) 
 

Metal Sheet Metal Screws 
(Not Provide) 

 

 
Check Component/Hardware: 

    
    

Installation Bracket        Installation Bracket 
(Cordless)        (Cordless TDBU / Day & Night) 

 
 
 
 
 
 
 
 
 

 
Handle         Hold Down bracket (optional) 

Hardware Standard Quantity 
 

Order Width (X) 
X≦ 
39" 

39" 
<X≦
66" 

66"<X
≦93" 

93"<X 
≦120" 

Installation Bracket 2 3 4 5 

Handle 

1pcs for X≦50", 2pcs for 
X>50" (Cordless) 

2pcs for X≦50", 4pcs for 
X>50" (Cordless TDBU & Day 

& Night) 
1 1/4" Screw for 

Installation Bracket 4 6 8 10 

Hold Down Bracket 
(Optional) 2 2 2 2 

Spacer (Optional) 
1pc for extend distance 10mm 

2pcs for extend distance 
18mm 

2" Screw for 
Installation Bracket 

with spacer 
(Optional) 

4 6 8 10 

3/4" Screw for Hold 
Down Bracket 

(Optional) 
4 4 4 4 

Note: Optional flat head screws included.  
Use as needed. 

 
Step 1: Bracket Installation 
 

� Measure 3” from both ends of the head rail. Mark 
the bracket location on the mounting surface 

 
 

 
 
 
 
Inside Mount  
�For Cordless, align wall to the front of brackets.  
�For Cordless TDBU & Day & Night, allocate a 
min. distance of 1 1/16’’ from wall to the front of 
brackets. 
�Use two 1 1/4” mounting screws to secure 
brackets. Use wall anchors for drywall or plaster 
wall. 

 
Outside Mount  
�Align the end of brackets with the top window 
frame. 
�Use two #8 1 1/4” mounting screws to secure 
brackets. Use wall anchors for drywall or plaster 
wall. 

 
* For shallow mounting, using flat head screw to 
secure the bracket in 45°. 

 
 
Step 2: Shade Installation 
 
� Position head rail at an angle so that it is hooked 
to the front of the bracket. Then push it upward to 
snap into the bracket. 

�  
    For proper installation, start with attaching 
the front rail to the bracket. 
 
    For easier installation, move the middle rail 
of cordless TDBU a little bit off before installing 
the headrail.    
 

                    
 

 
Step 3: How to Install Shade Handle  
 

Position the handle at angle so that it is hooked to 
the bottom of the bottom rail. Then push it upward 
to snap into place. 

 

Shade Operation 

 
To lower the shade, gently pull down the shade on 
the bottom rail handle and stop at the desired 
location. 
For TDBU & Day & Night, pull down the bottom 
rail first before lowering the midle rail. 
 
To raise the shade, gently raise the shade on the 
bottom rail handle to desired height. 
 
For TDBU & Day & Night, if the shade will not lift, 
pull the midrail down fully to the bottom first and 
then raise up bottom rail together with midrail. 

Do not grasp the rail unevenly. Always lower or 
raise the shade in the middle or use both hands with 
even pressure to two handles of the rail.  
 

 

How to Install Hold Down (If applicable) 

A, For Hold Down Bracket. 

 

 

 

 

 
B. For Magnetic Hold Down 
Use M3x15mm screw to secure the magnet catch at 
the below location. Make sure the magnet catch align 
with the pre-installed magnet on shade bottom rail.  
 

 
 
 

! 

 

3” 3” Space Evenly Space Evenly 

! 

Use #6 3/4” screw 
to secure each 
bracket. 

! 

3/8”S&9/16”S 1/2”D &3/4”S 



Remove the Shade 
For cordless, fully raise the shade. 
For TDBU & Day & Night, Lower the middle rail. 
Gently pry the bracket off the head rail with a flat 
screwdriver as below picture.  
Remove the shade.  
 

 

 

 

 

 

 

Cleaning the Shade 

Routine cleaning will help maintain the beauty of your 
shade. The shade can be cleaned by using a soft 
brush, vacuumed with a low suction hand-held vacuum, 
cleaned ultrasonically (specify that a mild solution 
must be used and that the head rail should never be 
immersed in liquid), or dampen a clean cloth with a 
warm water and mild detergent solution to dab the spot 
until it’s gone (do not rub!). 
  

 
 

Troubleshooting 

Problem Solution 

The shade will not 
snap into the 

mounting brackets 

Check if mounting brackets are 
aligned. Refer to Step 1. 

The shade will not 
lift 

Gently pull down on the bottom 
rail to reactivate the cordless 
mechanism. Repeat if 
necessary. 
For TDBU & Day&Night, pull the 
midrail down fully to the bottom 
first and then raise the bottom 
rail together with midrail up. 

The shade stack 
up unevenly 

Lower the shade completely, 
then raise it up to correct it. 
Repeat if necessary. 

 

 

 

 

 

 

 

 

                         

 

 

 

� � 

Head rail 

Bracket 

Blanket 

Bottom rail 

Middle rail 

Handle 



 
N300616-4 
65101-11753-D 

Installation Instructions 
Honeycomb Shades 

Cordless & Cordless TDBU & Cordless Day&Night 
(3/4” Double & 1 1/4” Single) 

 
Getting Started 
Remove shade from package. Save packaging until 
shade is installed and working to your satisfaction. 

 

Tools: 
 
� Level 
� Measuring Tape 
� Pencil 
� Power drill 
(¼” hex driver and drill bit) 

� Screwdriver 
 

You will need to use the following fasteners for your 
particular mounting surface. 

 

Surface Fastener 

Wood 
#8 1 1/4” Screws     
(Provide) 
#6 3/4”screws  

Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provide) 
 

Metal Sheet Metal Screws 
(Not Provide) 

 

Check Component/Hardware: 
 
 
 
 
 

Hold Down bracket   Installation Bracket 
(Optional) 

 

Hardware Standard Quantity 
 

Order Width (X) 
X≦ 
39" 

39" 
<X≦
66" 

66"<X
≦93" 

93"<X 
≦96" 

Installation Bracket 2 3 4 5 

Handle 

1pcs for X≦50", 2pcs for 
X>50" (Cordless) 

2pcs for X≦50", 4pcs for 
X>50" (Cordless TDBU & Day & 

Night) 

1 1/4" Screw for 
Installation Bracket 4 6 8 10 

 

Hold Down Bracket 
(Optional) 

2 2 2 2 

Spacer (Optional) 
1pc for extend distance 10mm 

2pcs for extend distance 
18mm 

3/4" Screw for Hold 
Down 

Bracket(Optional) 
4 4 4 4 

2" Screw for 
Installation Bracket 
with spacer(Optional) 

4 6 8 10 

Note: Optional flat head screws included.  
Use as needed. 

 

 
Step 1: Bracket Installation 
 

� Measure 3” from both ends of the head rail. Mark 
the bracket location on the mounting surface 

 
 

 
 
 
 
Inside Mount  
�Allocates a min. distance of 1/8’’ from wall to the 
front of brackets. 
�Use two #8 1 1/4” mounting screws to secure 
brackets. Use wall anchors for drywall or plaster 
wall. 

    
 
Outside Mount  
�Align the end of brackets with the top window 
frame. 
�Use two #8 1 1/4” mounting screws to secure 
brackets. Use wall anchors for drywall or plaster 
wall. 

     
 
* For shallow mounting, using flat head screw to 
secure the bracket in 45°. 

 
 

Step 2: Shade Installation 
 
Position head rail at an angle so that it is hooked to the 
front of the bracket. Then push it upward to snap into 
the bracket. 
 
    For proper installation, start with attaching  

the front rail to the bracket.    
 
    For easier installation, move the middle rail of  

cordless TDBU a little bit off before installing 
the headrail.                  

 
 

 
Step 3: How to Install Shade Handle  
 

Position the handle at an angle so that it is hooked to 
the bottom of the bottom rail. Then push it upward to 
snap into place.  

                                  
Congratulations! You have finished 
installing the blind. 

 
Shade Operation 
 

 
 
To lower the shade , gently pull down the shade on the 
bottom rail handle and stop at the desired location. 
For TDBU & Day & Night, pull down the bottom rail 
first before lowering the midle rail. 
 
To raise the shade , gently raise the shade on the 
bottom rail handle to desired height. 
For TDBU & Day & Night, if the shade will not lift,  
pull the midrail down fully to the bottom first and  
then raise the bottom rail together with midrail up . 
 

Do not grasp the rail unevenly. Always lower or raise 
the shade in the middle or use both hands with even 

pressure to two handles of the rail.  
 

 

How to Install Hold Down Brackets (optional)  

A, For Hold Down Bracket. 

 

 

 

 

B. For Magnetic Hold Down 
Use M3x15mm screw to secure the magnet catch at the 
below location. Make sure the magnet catch align with 
the pre-installed magnet on shade bottom rail.  
 

 
 
Remove the Shade 
 

For corded, fully raise the shade. 
For TDBU and Day & Night, Lower the middle rail. 
Gently pry the bracket off the head rail with a flat 
screwdriver as below picture. And then remove the 
shade.  
 

 

Cleaning the Shade 

Routine cleaning will help maintain the beauty of your 
shade. The shade can be cleaned by using a soft brush, 
vacuumed with a low suction hand-held vacuum, 
cleaned ultrasonically (specify that a mild solution must  
be used and that the head rail should never be 
immersed in liquid), or dampen a clean cloth with a 
warm water and mild detergent solution to dab the spot 
until it’s gone (do not rub!). 
  
 
 
 
 
 
 
 
 
 

ĸĸĸĸ ķķķķ 

! 

 3” 3” Space Evenly Space Evenly 

! 

Use #6 3/4” 
screw to 
secure each 
bracket. 

 

! 



 
 
 

Troubleshooting 

Problem Solution 
The shade will not 
snap into mounting 

brackets 

Check if mounting brackets 
are aligned. Refer to Step 1. 

The shade will not 
lift 

Gently pull down on the 
bottom rail to reactivate the 
cordless mechanism. Repeat 
if necessary. 
For TDBU & Day&Night, pull 
the midrail down fully to the 
bottom first and then raise the 
bottom rail together with 
midrail up. 

The shade stack 
up unevenly 

Lower the shade completely, 
then raise it up to correct it. 
Repeat if necessary. 

 

 



N300762 
65101-10252 
 

Installation Instructions 
Honeycomb Shades 

Cord Loop 
 

 
 

Getting Started 
 

Remove shade from package. Save packaging until 
shade is installed 
and working to your 
satisfaction. 
 
Tools: 
 
� Power drill 
� Tape measure 
� Screwdriver 
� Level 
� Pencil 
 
Installation Screws 

Surface Fastener 

Wood 

#8 1 1/4” 
Screws  
(Provided)        
M4x48mm screws 
 
#6 3/4” screws  

Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provide) 
 

Metal 
Sheet Metal Screws 
(Not Provide) 

 
Check Component/Hardware: 

        
(3/8”S, 1/2”D, 9/16”S, 3/4”S)   (1 1/4”S, 3/4”D) 

Installation Bracket   

 
Hold Down Brackets 
     (Optional) 
Hardware Standard Quantity 
 

Order Width (X) 
X≦
39" 

39"＜
X≦
66" 

66"＜X
≦93" 

93"＜
X≦
120" 

Installation Bracket 2 3 4 5 
M4x48mm Screw for 

Tensioner 2 2 2 2 

1 1/4" Screw for 
Installation Bracket 4 6 8 10 

3/4" Screw for Hold 
Down 

Bracket(Optional) 
4 4 4 4 

2" Screw for 
Installation Bracket 

with spacer 
block(Optional) 

4 6 8 10 

Hold Down Bracket 
(Optional) 

2 2 2 2 

Spacer 
Block(Optional) 

1pc for extend distance 10mm 
2pcs for extend distance 18mm 

Note: Optional flat head screw included. Use as 
needed. 
 

 
Step 1: Bracket Installation 
 

Measure 3” from both ends of the head rail. Mark 
bracket location on the mounting surface. 
 

 

 
 

 
Inside Mount 
� Use two #8 1 1/4” mounting screws to secure 
brackets. Use wall anchors for drywall or plaster 
wall. 

 
  

 
 
Outside Mount 

  
 

 
� Use two #8 1 1/4”mounting screws to attach each 
bracket. Use wall anchors for drywall or plaster 
wall. 

* For shallow mounting, using flat head screw to 
secure the bracket in 45°°°°. 

 
Step 2: Shade Installation 
 

� Position head rail at an angle so that it is hooked to 
the front of the bracket. Then push it upward to 
snap into the bracket. 

 

 For proper installation, start with 
attaching the front rail to the bracket. 

 
                                    (3/8”S, 1/2”D, 3/4”S) 
 

 
 
            (1 1/4”S, 3/4”D) 

 
Step 3: Cord Tensioner Installation  
 
� Make sure the cord is tightened / taut without 
stretching, twisting or crossing, and the tensioner 
and control cord does not interfere with raising or 
lowering the shade before cord tensioner is 
mounted.  

� Use 2pcs M4x48mm screws to mount the cord  
� Tensioner to the wall or window frame firmly for both 
inside & outside mount. Please refer to the following 
steps: 

 
Step 1                     Step 2 

          

 
 

★★★★ Congratulations! You have finished 

installing the blind. 

 

How to Install Hold Down Brackets 
(optional) 

A, For Hold Down Bracket. 

� Use #6 3/4” screw to secure each bracket. 
 
 
 
 
 
 
 
                 
 
B. For Magnetic Hold Down 
Use M3x15mm screw to secure the magnet catch at 
the below location. Make sure the magnet catch align 
with the pre-installed magnet on shade bottom rail. 

3” 3” Space Evenly 

1111 ���� 

! 

! 

Step 3 

� For 3/8” S, 1/2” D, 
9/16”S, 3/4”S , 
allocate a min. 
distance of 1/16’’ 
from wall to the 
front of brackets 
as left drawing. 

 

� For 1 1/4” S, 
3/4”D , align the 
front of brackets to 
the edge of window 
opening as right 
drawing. 

 

1111 ���� 

� For 3/8” S, 1/2” D, 
9/16”S, 3/4”S , 
allocate a min. 
distance of 5/8’’ 
from wall to the 
bottom of brackets 
as left drawing. 

 

� For 1 1/4” S, 
3/4”D , align the 
end of brackets 
with the top 
window frame as 
left drawing. 

 



 
 
Shade Operation 
 
ƽƽƽƽFor Cordloop, Pull cord to operate shade. Cord 
Tensioner must be fully tightened prior to operating 
the shade.  

 
 
 
Remove the Shade  
 
� Fully raise the shade. 
� Gently pry the bracket off the head rail with a flat 
screwdriver.  

� Remove the shade.  
 
 
 
 
 
 

 
 

 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
             (3/8”S, 1/2”D, 9/16”S, 3/4”S)  
 

 
                (1 1/4”S, 3/4”D) 
 

Note 
 

� Keep away from heat, sparks and open flame.  
� Larger windows may require two people to install. 
� Proper In the process of installation, must support 
the shade firmly to avoid it fall down too quick to 
damage the people or itself. 
� Operate shade only by pulling the cord.  
� To ensure child safety, install cord cleat and tighten 
up any loose cords after the shade is installed  

 

 
Cleaning 
 

Routine cleaning will help maintain the beauty of your 
shade. The shade can be cleaned by using a soft 
brush, vacuumed with a low suction hand-held 
vacuum, cleaned ultrasonically (specify that a mild 
solution must be used and that the head rail should 
never be immersed in liquid), or dampen a clean 
cloth with a warm water and mild detergent solution 
to dab the spot until it’s gone (do not 
rub!)

                                        

���� ���� 



Installation Instructions 
Honeycomb Shades 

Motorized Cordless 

 
 

Getting Started 
 

Remove shade from package. Save packaging until shade is 
installed and working to your satisfaction. 
 
Tools: 
 
� Level 
� Measuring Tape 
� Pencil 
� Power drill 
(6mm hex driver and drill bit) 

� Screwdriver 
 
You will need to use the following fasteners for your particular 
mounting surface. 
 

Surface Fastener 

Wood 
Screws  
(Provide) 

Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provide) 
 

Metal Sheet Metal Screws 
(Not Provide) 

 
 

Check Component/Hardware:              

 

     
 
(3/8”S, 1/2”D, 9/16”S, 3/4”S) (1 1/4”S, 3/4”D)    

Installation Bracket              1 1/4” Installation Screw 

 
 
 
 
 Spacer (Optional)   2” Screw         2.5” Screw       9/16” Screw   

(Optional)        (Optional)        (Optional)     
 
 
 
 
 

Hardware Standard Quantity 
 

Order Width (X) X≦56" 
56"＜

X≦105" 
X>105" 

Installation Bracket 2 3 4 
1 1/4" Screw  

(for Installation 
Bracket) 

4 6 8 

Spacer Block 
(Optional) 2 3 4 

2" Screw  
(for Installation 

Bracket with 1~2pcs 
spacer block) 

4 6 8 

2.5” screw  
(for Installation 

Bracket with 4pcs 
spacer block) 

4 6 8 

Note: Optional flat head screws included. Use 
as needed.  
 
Step 1: Bracket Installation 
 
� Measure 1 9/16” (40mm) from both ends of the head rail. 
Mark the bracket location on the mounting surface. 
Proper alignment of brackets will make installation 
easier. 

� When shade width is less than 24”, the distance from 
both ends of the headrail is 1 3/16” (30mm). 

 
 
 
 
 
 
Inside Mount  
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 

Use two 1 1/4” installation screws to secure brackets. Use 
wall anchors for drywall or plaster wall. 
 
 
 

Outside Mount  

  

 
 
� Use two 1 1/4” installation screws to secure brackets. Use 
wall anchors for drywall or plaster wall. 

Note: If spacer block is required, please follow the following 
guide: 

Please always make sure the raised side of the 
spacer block is against the bracket.   
Use 2” screws for one or two pcs of spacers, and 2.5” 
screws for 4 pcs of spacers. See picture below: 
 
 
  
 
 
 
 
 
 
* For shallow mounting, using flat head screw to 
secure the bracket in 45°. 

 
 
 
 
 

 

 

Step 2: Install the Shade 
 

� Position head rail at an angle so that it is hooked to the 
front of the bracket. Then push it upward at the back to 
snap into the bracket. 

 

    For proper installation, start with attaching the  
    front of the headrail to the bracket. 
 

                         
 
 
 
 

(3/8”S, 1/2”D, 9/16”S, 3/4”S)  
 

 
 
              (1 1/4”S, 3/4”D) 

 
Step 4: Install Remote Control Holder (Optional) 

Position the remote control holder with two 9/16” screws and 
the distance between screws is 3 1/4” and screws protrude 
1/8”.  
Attach the remote control holder to the screw. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

★ Congratulations! You have finished 

installing the blind. 
 

 

 

 

 

 

! 

 

���� ����    

65101-10253 
N300764 

82
.5

m
m

[3
 1

/4
'']

3.5mm[1/8'']

� For 3/8” S, 1/2” D, 
9/16”S,3/4”S , 
align the front of 
brackets 1/16” to the 
edge of window 
opening as right 
drawing. 

 
� For 1 1/4” S, 
3/4”D , align the 
front of brackets to 
the edge of window 
opening as right 
drawing. 

 

1 � 

� For 1 1/4” S, 
3/4”D , align the 
end of brackets 
with the top 
window frame as 
left drawing. 

 

� For 3/8” S, 1/2” D, 
9/16”S, 3/4”S , 
allocate a min. 
distance of 5/8’’ 
from wall to the 
bottom of brackets 
as left drawing. 

 



How to Install Hold Down Brackets (optional) 

A, For Hold Down Bracket. 

� Use #6 3/4” screw to secure each bracket. 
 
 
 
 
 
 
 
                 
 
 
B. For Magnetic Hold Down 
Use M3x15mm screw to secure the magnet catch at 
the below location. Make sure the magnet catch align 
with the pre-installed magnet on shade bottom rail.  
 

 
 
 
 
 
 
 
★★★★ Shade Operation 
 

Connect the battery wand or AC/DC adapter to the motor.  
 
 
 
 
 

 
 
Install remote battery and make sure the screen shows the 
right channel for the shade, and then the shade can be 
operable. Please refer to the remote instructions for 
adjustment. 
 
Note: Channel 1 is the default shown on the remote screen 
and channel 0 controls all shades programmed in one remote. 
 

 
 
 
 
 

 
★★★★ Remove the Shade 

Fully raise the shade, and then gently pry the bracket off 
the head rail with a flat screwdriver.  
Remove the shade.  
 
 
 
 

 

 

 

 

             
    (3/8”S, 3/8”D, 9/16”S, 3/4”S) 

 
                (1 1/4”S, 3/4”D) 
 
★★★★ Manual Control Button 

When remote is not available, the shade can be operated 
by the manual control button. 

 

 

 

 

 

 

 

★★★★ Note 

Our remotes are pre-programmed and ready to use.  
 

 

 

 

★★★★ Cleaning the Shade 

Routine cleaning will help maintain the beauty of your 
shade. The shade can be cleaned by using a soft brush, 
vacuumed with a low suction hand-held vacuum, cleaned 
ultrasonically (specify that a mild solution must be used 
and that the head rail should never be immersed in liquid), 
or dampen a clean cloth with a warm water and mild 
detergent solution to dab the spot until it’s gone (do not 
rub!). 
  

       Do not spray the liquid to the electric parts of the 
motorized shade. 

 

� � 

! 

! Do not press the 
manual control button 
over 4secs. 
 



 

N300756 
65101-10250 

Installation Instructions 
Honeycomb Shades  

CleartFit TM 

        

With Rail Cover        Without Rail Cover 
 

Getting Started 
 

Remove the shade from the package. Save the 
packaging until the shade is installed and working to 
your satisfaction. 
 

Tools Needed ：：：： 
� Power drill and  

drill bit 
� Measuring tape 
� Screwdriver 
� Level 
� Pencil 
 

You will need to use the following fasteners for your 
particular mounting surface. 
 

Surface  Fastener  

Wood 
M3.5×25mm Screws 
(Provided) 

M3.8×38mm    

Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provided) 

Metal Sheet Metal Screws 
(Not Provided) 

 

Hardware 
Order Width (X) X≦50" X>50" 

Handle 2 4 
Cord Equalizer Housing 
Base(with Rail Cover)  2 

Cord Equalizer Housing 
Base(without Rail Cover)  4 

L Bracket (for 3/8”S, Outside 
Mount) (with Rail Cover) 

2 N/A 

L Bracket (for 3/8”S, Outside 
Mount) (without Rail Cover) 4 N/A 

L Bracket for windows with 
marble sill (Optional) 

2 

L bracket (for 3/4”S, 1/2”D, 
&9/16”S Outside Mount) 
(without Rail Cover) 

2 

L bracket (for 3/4”S, 1/2”D 
&9/16”S, Outside Mount) 
(without Rail Cover) 

4 

M3.5×25mm Screw (for 
Base, 3/8” S, Inside Mount) 

8.5”<X≦ 40”, 4 
40”<X≦ 50”, 5 

M3.5×25mm Screw (for 
Base, 3/4”S, 1/2”D, &9/16”S  

Inside Mount) 

8.5”<X≦40”, 4 
40”<X≦52”, 5 
52”<X72”, 6 

 

M3.8x38mm screw (for 
Outside Mount) 

L bracket qty*2 

Spacer Block (Optional, 
Outside Mount) 

1pc to extend distance 
10mm 

2pcs to extend distance 
18mm 

M3x3.6mm Screw (for 
Outside Mount) L bracket qty 

 

 
Bracket Installation 
 
A. Without Rail Cover 
 
����Inside Mount  
For flush mount, the minimum distance from the 
top/bottom wall to the Cord Equalizer Housing base 
side is B and A from the side wall to the edge of Base. 
Use M3.5×25mm Screw to secure the base. Align 
the cover with the notch of the base and push the 
cover in toward the wall. 
 
TOP: 
For 3/8”S, A=1/8” & B=3/8” 
For 9/16”S, A=1/8” & B=1/2” 
For 3/4”S & 1/2”D, A=1/8” & B=5/8” 
 

 
 
 
 
 

 
. 

  
 
 
 
 

    
 
BOTTOM:  

           
 
����Outside Mount  
TOP: Use two M3.8x38mm screws to fasten the L 
bracket. 
 
Once the L bracket is installed, use one M3 x 3.6mm 
bolt to attach base. Finally, align the cover with the 
notch of the base and push the cover in, as shown in 
“Inside Mount” illustration. 

    
(The shade width and length is 4” larger than the 
window opening) 

 

  
 
BOTTOM:  Install the bracket similar to top steps but 
in reverse way. 

 
(The shade width and length is 4” larger than the 
window opening) 

 

         
 
 
B. With Rail Cover  
 
����Inside Mount  
Inside Mount – for 3/8”Single Cell  
For flush mount, use M3.5×25mm Screw to secure 
the rail cover and the base. 

  
 
Align the cover with the notch of the base and push 
the cover in toward the wall. 

 

     
 
 
 
 
Inside Mount – for 1/2” Double Cell, 9/16”Single Ce ll, 
3/4”Single Cell 
For flush mount, use M3.5×25mm Screw to secure 
the rail cover.  
Align the cover with the notch of the base and push 
the cover in toward the wall as above picture. 
 

    
 
 
 
 
 
 
 

notch    

Base 

Cover 

step1 step 2 

BOTTOM:  

 

TOP: 

 

TOP: 

 BOTTOM:  

 
(Top) 

B 

step1 

step3 

Step 2 

Notch    

 

A 

Base 

Cover 

For 3/8”S,  
A=1/8” & B=3/8” 
 
For 9/16”S,  
A=1/8” & B=1/2” 
 
For 3/4”S&1/2”D, 
A=1/8” & B=5/8” 
 

 

(Bottom View) 

Use M3.8x38mm 
screws to fasten 
the L bracket and 
one M3x 3.6mm 
bolt to attach  
base on L bracket. 

 



����Outside Mount  
Outside Mount –for 3/8”Single Cell, 1/2”Double 
Cell , 9/16”Single Cell & 3/4”Single Cell 
 
Use two M3.8x38mm screws to fasten the L bracket. 
Then, align the cover with the notch of the base and 
push the cover in, as shown in “Inside Mount” 
illustration. 

    
 

 
BOTTOM 

  
 

 
 
Side mount L bracket for windows with marble  
 

sill (optional) 
 
Allocate a distance of B (B=5/8” for 3/8”S) from 
bottom corner window frame and use two 
M3.8×38mm screws to secure the L bracket.  

Use one M3 x 3.6mm bolt to attach base to the L 
bracket (through inner screw hole) 

    
 
Handle Installation 
Slide the handle onto the plastic piece pre-attached 
to the rails. 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 

Operate you shade 

   
 
Notes  
For child safety, please check and ensure that there 
are no loose cords after the shade is completely 
installed. 
Please also make sure that cords are nice and tight 
and not tangled. 

    

    
 
 
 
 

 
Cleaning 
Routine cleaning will help maintain the beauty of 
your shade. The shade can be cleaned by using a 
soft brush, vacuumed with a low suction hand-held 
vacuum, cleaned ultrasonically (specify that a mild 
solution must be used and that the head rail should 
never be immersed in liquid), or dampen a clean 
cloth with a warm water and mild detergent solution 
to dab the spot until it’s gone (do not rub!). 
 
 
 
    

 
 

Step1 Step 2 

���� ���� 

 

 

Cord Equalizer Housing Base 
Cord Equalizer Housing Cover 

Head rail 

Rail cover 

Blanket 

Bottom rail 

TOP 

 

Top View 

Use M3.8x38mm 
screws to fasten the L 
bracket and one M3x 
3.6mm bolt to attach 
base on L bracket. 

 



N300758 
65101-10251 
 

Installation Instructions 
Honeycomb Shades  

 ClearFit TM for Skylight 

 
Getting Started 
 

Remove the shade from the package. Save the 
packaging until the shade is installed and working to 
your satisfaction. 
 
Tools Needed ：：：： 
� Power drill and  

drill bit 
� Measuring tape 
� Screwdriver 
� Level 
� Pencil 
� Steel wire regulator (Provided) 
 
You will need to use the following fasteners for your 
particular mounting surface. 
 

Surface  Fastener  

Wood 
M3.5×25mm Screws 
(Provided) 

Drywall/Plaster Wall Anchors, Expansion Bolts 
(Not Provided) 

Metal 
Sheet Metal Screws 
(Not Provided) 

 
 
 
 
 
 
 
 
 

Hardware Standard Quantity 
 

Order width (X) X< 
31 3/4” 

31 3/4” ≦

X<45 9/16” 
45 9/16” 
≦X≦59” 

H/R Bracket 2 3 4 
B/R Bracket 3 3 4 

L-Shape Supporting 
Bracket Set (OB only) 3 3 4 

Handle 1 
M3 x 3.6mm Screw for 
L-Shape Supporting 

Bracket Set 
3 3 4 

Regulator 1 
    M3.5×25mm Screw 

 (For OB) 8 9 12 

M3.5×25mm Screw 
 (For IB) 5 6 8 

 
Bracket Installation 
Top Rail: Install bracket on each end of the top rail. 
When there are more than two brackets, the distance 
between brackets should be equal. 

 
Brackets Distribution of Top Rail 

 

Bottom Rail: Two brackets on each end. If there are five 
brackets, the fifth bracket should be positioned in the 
middle of the rail. 

 
Brackets Distribution of Bottom Rail 

 

Inside Mount 

The distance between top rail bracket screw hole to the 
front of the frame should be at least 9/16”, and 2” from 
the wall. As for bottom rail, min. of 1/2” from bracket 
screw hole to the front of the frame and 1” from the wall. 
Mount brackets with M3.5×25mm screws. Aligned 
horizontally. Use wall anchors for drywall or plaster 
wall. 
 

Do not over tighten the screw. 

       
                   

Outside Mount 

Min. distance between top rail bracket screw hole to 
the top edge of the frame is 5/8”, and 3” to the shade 
edge. Mount brackets with M3.5×25mm screws. 
Aligned horizontally. 

               
 
The distance between bottom rail L bracket screw hole 
to the bottom edge of the frame should be at least 1 
1/8” and 1” from the shade edge. 
 
Mount L brackets with 2 M3.5×25mm screw. Cover the 
brackets and secure with M3x3.6 screw. 
 

Do not over tighten the screw. 
 

    
 

 

Install the Shade 

� Position the shade so that the front is facing you. 
� Insert the rail with an angle facing the window; hook 

from the bracket front and push upward to snap it in. 

      For proper installation, start with attaching the 
front rail to the bracket 

 
 
 
 

 
 

         
 

 

 

 

 

 
Remove the Shade  
Fully raise the shade. Insert screwdriver into the gap 
between the back of the rail and the bracket. Gently 
maneuver the screwdriver toward yourself to pry the 
bracket.  

    
  

 

 
 
 
Handle Installation 
Slide the handle onto the plastic piece that is 
pre-attached to the rails. 
 
 

 

 

 

 

Adjust the Steel Wire 

After the installation, tighten the steel wire by sliding 
the regulator towards the direction as shown on label in 
Drawing 1. 
For easier tightening the steel wire, it is suggested to 
use a pliers to pull the steel wire towards the bottom rail, 
and then adjust the regulator pin to tighten the steel 
wire. 
     

Put a cloth between the pliers and steel wire in 
case the steel wire breaks. 

 
Drawing 1 

     

Step 2 

! 

Step 1 

1”  

Step1 Step2 

! 

! 

! 

! 
� �

� �

� 
! 

� � 

Top 
  Bottom  

Top 

Bottom  

 

Top 

Do not over 
tighten the 
screw.  
 

! 

Label 



 

 
 

 

To loosen the steel wire, place the regulator pin on the 
bottom rail and press down as shown in Drawing 2. 
 

     
         Drawing 2 

 

Cleaning  

Routine cleaning will help maintain the beauty of your 
shade. The shade can be cleaned by using a soft brush, 
vacuumed with a low suction hand-held vacuum, 
cleaned ultrasonically (specify that a mild solution must 
be used and that the head rail should never be 
immersed in liquid), or dampen a clean cloth with a 
warm water and mild detergent solution to dab the spot 
until it’s gone (do not rub!). 

 



 

N300478-2 
65101-11730-B 

Installation Instructions 
Honeycomb Shades  

Patio Door Vertical & Vertical Day&Night 
 

 
 

 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Getting Started 
 

Remove the shade from the package. Save the 
packaging until the shade is installed and working to 
your satisfaction. 
Tools Needed：：：： 

�  Power drill and drill bit 
�  Measuring tape 
�  Screwdriver                                                                                  
�  Level 
�  Pencil 
�  Pliers 

You will need to use the following fasteners for your 
particular mounting surface. 

Surface Fastener 

Wood 1 1/4” Screws 
(Provide) 

 Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provide) 

Metal Sheet Metal Screws 
(Not Provide) 

 

 

Check Component/Hardware: 
 
 
 
 
 
 

Installation Bracket    Floor Bracket     Hanger  
 
 

Bolt        Screw for Floor bracket 
 
Hardware Standard Quantity 

 

Order Width (X) 
XЉ
39" 

39"＜
XЉ66" 

66"＜
XЉ93" 

93"＜
XЉ120" 

X＞
120" 

Installation Bracket 2 3 4 5 6 

Floor Bracket  

Right stack                 1 
Left stack                  1 
Travelling Center Stack      0 
Split Stack(Center Opening)  2 
Vertical Day & Night         2 

1 1/4" Screw for 
Bracket 

installation bracket qty x 2 + floor 
bracket qty 

Spacer Block 
(Optional) 

1pcs for extend distance 10mm 
2pcs for extend distance 18mm 

Extension Bracket 2 3 4 5 6 

Bolt 

Right stack                 1 
Left stack                  1 
Travelling Center Stack      2 
Split Stack(Center Opening)  2 
Vertical Day & Night         2 

Hanger Same as clip qty 
Note: Optional flat head screws included. Use as needed. 

 

Step 1: Bracket Installation 
 

Measure 3”~4” from both ends of the head rail. Mark the 
bracket location on the mounting surface, proper 
alignment of brackets will make installation easier. 
Inside Mount: 
Align the front of brackets flush against the wall. 
Use two 1 1/4” mounting screws to secure brackets. Use 
wall anchors for drywall or plaster wall.  
     
 
 
 
 
 
 
 

 
Outside Mount: 
Position the top of bracket at order height +1/8”. 
Use two 1 1/4’’ mounting screws to secure brackets. Use 
wall anchors for drywall or plaster wall. 
 
 
 
 
 
 
 

 
 
Step 2: Shade Installation  
 

a. Assemble the clips(pre-attached on the blanket) into 
hangers(find in hardware box) by using pliers as below 
photo. 
For convenient operation, reverse the shade when open 
the package and face to the back of blanket. 

 
 
b. Position head rail at an angle so that it is hooked to 
the front of the bracket. Then push it upward to snap into 
the bracket as shown below. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
c. Install unmovable vertical rail 
Push the unmovable vertical rail from down to up as 
below drawing �. And then, push the fixing hanger into 
the gap of headrail as drawing ③.Locking the fixing 
hanger bolt tightly. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
d. Install movable vertical rail 
Align the hanger shaft hole with the sliding supporting 
shaft hole, and insert the bolt into the shaft hole 
completely(����). Screw the bolt tightly clockwise(����). 

     
 
e. Untie the cords. Put the buckle bead into groove of 
headrail end cap (make sure the bead buckle from 
groove top down) as drawing. 
 
 
 

Left stack Right stack 

Travelling Center 
Stack  

Split Stack (Center 
Opening) 

Vertical Day & Night 

���� 

④④④④

 

���� 

���� ���� 

Note: Before installing the 
unmovable vertical rail, dont’s 
untie cords. Attach the floor 
bracket to the end cap of 
unmovable vertical rail, shown in 
left drawing(����). 

���� 

���� 

���� 

���� 



         
 

 
 
 
 
 
 
 
 
 
 
 
f. Press hangers into heardrail from shade front 

 
 
g. Attach the screw of Floor Bracket into the floor or wall 
shown below. Floor Bracket has been pre-attached to 
the end cap of unmovable vertical rail 
 

  
 

 
 

h. If the vertical rail is not perpendicular to the floor, 
adjustment is necessary.  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Step 3: How to Install Shade Handle  

Slide the handle onto the plastic piece pre-attached to 
the rails. 
 
 
 
 
 
 
 
 
 
 
Step 4: Remove the shade 
 

Please use the reverse steps of installing vertical rail 
and shade to remove the vertical rail and shade. 
Note: Separate clips from hangers as below drawing, 
the hangers leave on headrail. 

 
 

 
Gently pry the bracket off the head rail with a flat 
screwdriver as below drawing. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Installation of Extension bracket & spacer block (for OB) 
Extension bracket: Allocate a min. distance of 3/8’’ 
from wall to the bottom of brackets and use screw to 
secure the bracket. And, use screw to install the 
Installation bracket on the Extension bracket at 1 9/16” 
(from the wall to the center of the screw bolt) as below 
pictures. 

   
 
Spacer block: Install the spacer block (1pc or 2pcs) at 
the backside of the installation bracket as below pictures. 
Extend up to 10mm for 1pc spacer block. Extend up to 
18mm for 2pcs spacer block. 

 
 
Spacer block: Install the spacer block (1pc or 2pcs) at 
the backside of the Floor bracket as below pictures.  
 
 

 
Extend up to 10mm for 1pc spacer block. Extend up to 
18mm for 2pcs spacer block. 

 

 

 

 
     

Extension bracket & Spacer block will be 
provided only when customer request.  
 

Troubleshooting 

Problem Solution 
When the cord is loose, 
adjustment is necessary. 
a. Remove the buckle bead 
from the headrail end cap. 
b. Remove the cord knot 
from the buckle, readjust 
the cord length and tie a 
knot. Put back the buckle 
bead into the headrail end 
cap. Do not over tight. 

 
 
 
 
 
 
 

 

 
 
 
                                  

 

 

! 

Handle 

Vertical
Rail 

Cord 

Buckle  
bead 

Fixing  
hanger 

Headrail 

Floor 
bracket 

Vertical 
Rail 

Headrail 
End 
cap 

Installation 
bracket 

Clip of  
shade 

Sliding support 

 

Blanket 

Into the Floor 

Not perpendicular 

Into the Wall 



N300479-3 
65101-11731-C 

Installation Instructions 
Honeycomb Shades Special Shapes 

    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Step1: Getting Started 
 
Remove the shade from the package. Save the 
packaging until the shade is installed and working to 
your satisfaction. 
 
Tools Needed：：：： 
� Power drill and drill bit 
� Measuring tape 
� Screwdriver 
� Level 
� Pencil 
 
You will need to use the following fasteners for your 
particular mounting surface. 

Surface Fastener 

Wood 

#8x1 1/4” Screws 
(Provide) 
#6x3/4” Screws 
(Provide) 

Drywall/Plaster 
Wall Anchors, Expansion Bolts 
(Not Provide) 

Metal 
Sheet Metal Screws 
(Not Provide) 

 

Check Component/Hardware: 
 
 
 
 
for 3/4” S&1/2” D   for 9/16”S      for 3/8” S          

 Installation Bracket            
 
 
 
 
 
 Bracket Clip 
   
 
 
 
 
 
Hardware Standard Quantity 
 
For perfect arch, Eyebrow, Elongated Eyebrow, 
and Triangle: 

Order Width (X) X≦48”  X＞48”  

Installation Bracket  2 4 

Bracket Clip (for perfect arch, 
Eyebrow, Elongated 

Eyebrow) 
4 6 

Bracket Clip (Triangle) 6 8 

1 1/4" Screw for 
 Installation Bracket 

Installation bracket 
qty x 2 

3/4" Screw for Bracket Clip Bracket Clip qty 

 
For Quarter Round, Half Eyebrow, Arch on Top, 
and Angle Top:  

Order Width (X) X≦24”  X＞24”  

Installation Bracket  2 4 

Bracket Clip (Quarter Round, 
Half Eyebrow, Arch on Top  

2 4 

Bracket Clip (Angle Top) 4 6 

1 1/4" Screw for Installation 
Bracket 

Installation bracket 
qty x 2 

3/4" Screw for Bracket Clip Bracket Clip qty 

 
 

Step2: Assemble the Shade 
 

For Perfect Arch, Eyebrow, Elongated Eyebrow, 
and Triangle (take Perfect Arch as example): 
Open the shade and place the rail into the bottom of 
180°center support tightly, and then install the fr ont 
and back 180°center templates : 
 
 
 
 
 
 
 
 
 
 
For Quarter Round, Arch on Top, Angle Top, and 
Half Eyebrow (take Quarter Round as example):  
Open the shade and place the rail into the bottom of  
90°center support tightly, and then install the fro nt and 
back 90°center templates : 
 
 
 
 
 
 
 
 
 
 
 
Step3: Install the Bracket 
 

Mark the bracket location on the mounting surface as 
shown in the following illustrations.  
For Perfect Arch, Eyebrow, Elongated Eyebrow, 
and Triangle (take Perfect Arch as example): 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
For Quarter Round, Arch on Top, Angle Top, and 
Half Eyebrow (take Quarter Round as example):  
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Use two #8x1 1/4” screws to attach the installation 
brackets on the window frame,  
The min. distance is 11/16’’ from the front bracket to 
the edge of window frame.  

 
 
 
 
 
 
 
Step4: Install the Shade 
 

1. Install the Bracket Clip 
Insert the Bracket Clip into fabric and then close the 
Bracket Clip to keep it clamped on the fabric. 
Double Cell: 
 
 
 
 
 
 
 
 
 
Single Cell: 
 
 
 
 
 
 
 
 
 
Bracket Clip open and close illustration: 

 
 
 
 
 
 
 
 

� 

� 

� 

180°Center 
Support 

90°Center 
Support 

180°Center 
Template 

90°Center 
Template 

� 
� 

� 

For shade width X≦48”, 
measure 1.5” (38mm) 
from both ends of the 
rail to locate the center 
of the bracket 

For shade width  
X >48”, place the 
bracket evenly along 
the rail 

 

For shade width 
X≦24”, measure 1.5” 
(38mm) from both ends 
of the rail to locate the 
center of the bracket 

For shade width  
X >24”, place the 
bracket evenly along 
the rail 

 

11/16” 
11/16” 

Open Close 

Step 1 Step 2 

Step 1 Step 2 

Perfect Arch 

Eyebrow 

Elongated Eyebrow  

Quarter Round L / R 

Triangle 

Arch on Top L / R 

Half Eyebrow L/R 

Angle Top L/R 



 
2. Put the shade inside the window opening. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
3. Install the Screws for Bracket Clip                

 
Mark the bracket clip location on the mounting surface 
as shown in the following pictures. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Please pull up the high point of leg (H) to make 
leg stand before install the Bracket clip screw. The 
Bracket clip screw should be installed on the curve, 
not on the leg (H).  

 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 Please pull up the high point of leg (H) to make 
leg stand before install the Bracket clip screw. The 
Bracket clip screw should be installed on the curve, 
not on the leg (H). 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Install a #6x3/4”screw into the corresponding location 
of the bracket clip about 1 1/8" distance from the front 
window frame (do not drive the screw completely in 
and leave around 2mm gap to insert Bracket Clip) 
 
 
 
 
 
 
 
 

 

4. Install the rail 
 
Place the front groove of the rail into the front iron wire 
of the bracket and then push forward to make the 
back groove of the rail snap into the back groove of 
the bracket. 
 
 
 
 
 
 
 
 
5. Insert the Bracket Clip into the screw from the 
notch.  

 
 
 
 

 
 

 
 
 
 
 
 
Remove the Shade 

 

  1. Take off the Bracket Clip from the screw.  
  2. Backward the rail from the front and then force 

the rail up from the back. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Cleaning 

 

Routine cleaning will help maintain the beauty of 
your shade. The shade can be cleaned by using a 
soft brush, vacuumed with a low suction hand-held 
vacuum, cleaned ultrasonically (specify that a mild 

solution must be used and that the head rail should 
never be immersed in liquid), or dampen a clean 
cloth with a warm water and mild detergent solution 
to dab the spot until it’s gone (do not rub!). 

 

Step 1 Step 2 

Step 1 

� 
� 

Perfect Arch & Eyebrow 
Shade width X≦48”         Shade width X>48” 

Triangle 
Shade width X≦48”         Shade width X>48” 

! 

Elongated Eyebrow 
Shade width X≦48”       Shade width X>48” 

Quarter Round & Half Eyebrow 
Shade width X≦24”           Shade width X>24” 

Arch on Top 
Shade width X≦24”         Shade width X>24” 

Angle Top 
Shade width X≦24”         Shade width X>24” 

 

Triangle 
Shade width X≦48”         Shade width X>48” 

! 

1 1/8’’ 
 

� � 



N300698 

65101-11773 

Installation Instructions for PVC Light Guard 

 

 

 

Install PVC Light Guard (optional for IB) 

a. The light guard is to be placed at back of the shade on left & right side. 

Place the light guard vertically towards the bottom window frame. To avoid scraping, leave at 

least 2mm gap between fabric stack and light guard. And then mark out the location with a 

pencil. 

Remove the double sided tapes and carefully paste the light guard in position. 

 

b. When light guard exceeds certain length, it will be spliced into 2 pieces. We recommend 

that the seam be placed as close to the fabric stack as possible, shown in below drawings. 

 

Light guard 

Note: The light guards on both sides 

are identical; 

 

Use the double-sided tape on the 

narrow side of the light guard to 

attach to the window frame. 

Seam 


	65101-11725-J-Corded Corded TDBU DayNight Installation Instructions N300473-10_20181101.pdf
	65101-10249-Cordless  Cordless TDBU  DayNight Installation Instructions N300750_HD_20181101.pdf
	65101-11753-D -Large cell Cordless  Cordless TDBU  DayNight Installation Instructions-N300616-4_20180214.pdf
	65101-10252-Cord Loop Installation Instruction-N300762_HD_ 20181201.pdf
	65101-10253- Motorization installation instruction-N300764_HD_20181201.pdf
	65101-10250-ClearFit Installation InstructionN300756_HD_20181101.pdf
	65101-10251-ClearFit for Skylight N300758_HD_20181101.pdf
	65101-11730-B-Vertical&Vertical Day Night Installation Instructions N300478-2 20180320.pdf
	65101-11731-C-Specialty Shade Installation Instructions N300479-3_20181101.pdf
	65101-11773-PVC Light Guard Installation Instructions -N300698_20170713.pdf

